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(V) If the equations 3x- 2y +z=0,6x- 5y +2z=0,9x -6y + kz=0 have solutions other than

then zero solution , thenk =

a zero b 1

(Y) If the straight line x = 3y = az 15 parallel to the plane x + 3y + 22+ 4 =0, thena=
b 2 ¢, 1 d -]




(V) tZ,= siu% : icos%)s.zx:(cos% - isiné)l andz =L find the square roots of z
- - - Z)

in its expononential form -

(¢)  In the opposite figure, a right circular cone , the perimeter of its base = 1277 cm

C 1s the midpoint of {_ﬁ , then B_E . C_(‘“) =

b -40

d) .33




(°) In the expansion of (x*+ —-l—)3

— ) according to the descending powers of x
2x

Furst: Prove that the term free of x 15 of order (2n + 1)

Second: find the ratio between the term free of x and the nuddle term whenn=4.x=1

.= k) 1s auntt vector, then the valveof k=




a3

(V) The rank of the matrix A = ( :

3
1 ) equals
Y J

1
3

(M) The radius length of the sphere: x*+ y2 + 2%+ 2x - 2y - 4z - 3 = 0 equals




() (5302 270y
50-3 20°-7
a 3

y¢Z X

(V) Without expanding the deternunant , prove that




(YY) Cosine the measure of the angle between the two lines:

=_—equals

-~

(YY) Solve the following equations 2x+y-2z=10 , x+2y+2z=15x+4y+3z=6

using the multiplicative mverse of the matrix




("7)

If 8C5:2-1Cy=8:5, then the value of n

a § b

(\ 2) [fA(-2.0.3).B4. 2. -5). thenll ﬁ | = length unit

—_—

a vTj by c v'r-i—_-l




( \o ) Without expanding the deterimant

X b
prove that| g3 b |=x+a+b)(x-a)(x-b)
b

1




(YY) If Ilj =4Il § |l = 6 and the measure of the angle between the two vectors T B equals:
60°.then(2j : Tﬁh)'(?xx -B)=

(0-23
(YA) The rank of the matrix A = 24 @) equals

369
a 3 b/?2 c 1




(Y9) If the two spheres (x - 3y +(z-3) =16, (x+ 1)7 + (y-4)° + (z- K)* = 25 are tangential,
find the value of k

(Y +) Prove that the term free of x in the expansion of (x” + —13— )" where n € Z* equals
X

|511

120 3n




